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TpennpoBka Beruntanus (11161)

Nwms:

PemnTe Kaxyio 3a1auy.
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TpennpoBka Beruntanus (11161) Nwmsi: K104 K NpaBHILHBIM OTBETaM
Pemnre KaKI1yI0 32121Yy.
9-1= 8 4-1= 3 10-1= 9 2-1= 1
8-1=_7 6-1=_ 5 7-1=_6 3-1= 2
5-1= 4 IT-1= 10 3-1= 2 5-1= 4
4-1= 3 11-1= 10 8§-1= 7 10-1= 9
2-1= 1 6-1= 5 7-1= 6 9-1= 8
8-1= 7 4-1= 3 6-1= 5 11-1= 10
9-1= 8 2-1= 1 5-1= 4 10-1= 9
7-1= 6 3-1= 2 9-1= 8 3-1= 2
7-1=_6 8-1= 7 10-1= 9 5-1= 4
2-1= 1 4-1= 3 6-1= 5 11-1= 10
7-1= 6 3-1=_ 2 8-1=_7 10-1=_ 9
5-1= 4 6-1=_ 5 2-1=_ 1 9-1=_ 8
4-1= 3 I1T-1= 10 7-1=_6 8-1=_7
3-1= 2 4-1= 3 6-1= 5 9-1=_ 8
10-1= 9 5-1= 4 I1-1=_10 2-1= 1
4-1= 3 5-1= 4 7-1= 6 9-1= 8
I1-1= 10 2-1= 1 10-1= 9 8-1= 7
3-1=_ 2 6-1= 5 5-1= 4 4-1= 3
9-1= 8 7-1= 6 3-1= 2 11-1= 10
10-1= 9 6-1= 5 2-1=_ 1 8-1= 7
10-1=_ 9 7-1=_6 6-1= 5 4-1= 3
9-1= 8 IT-1= 10 5-1=_ 4 8-1=_7
3-1= 2 2-1= 1 5-1= 4 9-1=_ 8
2-1= 1 IT-1= 10 4-1=_3 8-1=_7
3-1= 2 6-1=_ 5 10-1= 9 7-1=_6
IS [ A i L R




	Рабочий лист
	Ключ к правильным ответам

